
//Zadatak 6. radna bilježnica 
//autor: Dominik Petrina 1.RM 
 
#include <iostream> 
#include<stdio.h> 
#include<stdlib.h> 
#include<math.h> 
using namespace std; 
 
int main() 
{ 
    int a, b, c; 
    cin >> a; 
    cin >> b; 
    cin >> c; 
 
    if (a + b == c) 
        printf("%d + %d = %d", a, b, c); 
    else { 
        if (a + c == b) 
            printf("%d + %d = %d", a, c, b); 
        else { 
            if (b + c == a) 
                printf("%d + %d = %d", b, c, a); 
            else 
                printf("Niti jedan broj nije moguce prikazati\nkao zbroj 
preostalih dvaju brojeva."); 
        } 
    } 
 
    return 0; 
} 


